Right Angle Trigonometry

Suppose x = sin0

sinf = — cosf =
1
X

tanf = cotd =

0
[] sect = cscl =

Suppose x = tan 6
sinf = cosf =
X
tan6 = i cotfd =
1

0

[ sec = csch =
1
Suppose x = sec0
sinf = cosf =
X
tanf = cotd =
0 [ secl = % csch =
1

To complete the missing side of the triangles use the Pythagorean Theorem a? + b = c?

Identities:
sin?0 4+ cos?20 =1, 1+tan?6 = sec?0, 1+ cot?O = csc? 6.
sin20 = 2sinfcosf, cos20 = cos?0 —sin?6 = 2cos?0 —1 =1 — 2sin?6.

sin6 = 3 (1 —cos20), cos?6 = 3 (1+cos26).



